K17t - BIF - FIBEE

(@& E]
2023%F2H 1 B & Y {@1&E
A & Frifhag (Bidk)
624101 REMEY P BEEE 170,000H
718101 AP E FHL 5,500H
718102 AP E TR 5,500H
718103 AP E KE 5,500H
718105 AP = IRAR 5,500H
720153 BEIF 31EFhHh ST 5,600H
720154 BEF N3%1EFhHh <F 5,600MH
736501 feyAH—X 3,200MH
736505 A4+t X kL Atakuba 9cm 3,700M
7365006 A4 >+t X kL Atakuba 19cm 4,700
736507 A >+t > X kL A takuba 9cmaZit FH2ME A 2,900
736508 A >+t R kL Atakuba 19cmaZ#aFE 21E A 3,600
736510 14>+t X kL Atakuba 11cm 4,000
736511 A >+t R b L Atakuba 11cmas#aFE21E A 3,100MH
736515 A1 REILVE—FF 2,200H
741901 A—v 7 7L = 100K 550
741902 A—Y 7 L 15 50K 550
741903 O—v 7 T{/L I = BHEA 100K 1,000H
741908 O—v 7 fJiL = ZBHEA M 36K 700
762501 EEEBRHFEAN 3,900H
(BR5E# T ]
EERY TRFTRTWELET,
mmE mf
720104 BEF viiro—F




BEE fhlkEKEm

(@& E]
2023%2A8 1 H & Y flit&E
i i FEAE (Bitk)
719922 AFEDL 2,300
719923 L& 2,600/
719924 e &L 2,600/
719926 AELF () 8,000
719927 A= BIER 6,100
719929 AR AR N 3,800/
719930 sSeall(K/FIT) 6,800/
719941 ARENL 2,600/
719942 o=l 4,700
719943 AREL(K) 4,000
719946 EAFENL 3,200/
719947 EMEFEEN 3,400/
749811 BEA 2,400
749812 BEB 3,200/
749831 AGH L 1,600/
761430 RER /N 3,000/
761431 ®RER K 3,200/
761432 BwEE K 4,900/




